POLAR TIDE/PSI

start time: 04/01/06 19:48:57 UT
stop time: 04/01/06 22:49:02 UT

no spin averaging
collapse option 2

ranges used for average:
Obs.energy: 0.32 — 410.62 eV
spin angle: 0.00° — 360.00°
polar channels: 1 — 7

Energy Flux

Stops

time 20:
Re 2.
Lshell 10
mit 9
mlat 61.
invliat 71

tide_Iz_v6.1.0
Mon Nov 27 22:48:03 2006

plot: 10604011948_2249 _sp.es

no minimum subtracted
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20:20 20:40 21:00 21:20 21:40 22:00
1.9 1.9 2.2 2.7 3.3 3.8
100.0 3.5 2.3 3.0 4.7 7.4
23.4 21.8 21.7 21.6 21.5 21.4
83.8 42.4 6.9 —-16.9 -32.5 —43.4
85.6 57.6 48.5 54.9 62.5 68.4
instr_sens: correction
calibration: Td alib.vé
htr.ps mass_calibration: moss,colib.v7

ion_mas k: 1060402 _v2.mask(0.80)

22:20
4.3

11.4
21.4
-51.5
72.8

s/c potential = 0.0000
attitude: 06040103.cdf
orbit: 06040103.cdf

level—zero :
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